
  

  

                                  ) 1(بتن آرمه  يهاسازه ششم يف سريتكل دكتر مدح خوان: مدرس

  

�� ���� �	
� ��

�� ���� ���  �
���� ��� ���  ��� �� ������ � � ���� �
!".  $%� &�
' ��� ����� �� ��� �� �(�� 
� .  

  

  

)*�(  �%  �� ,��� �$-�. /
���� 0� $12 �3�
4� �� �	
�.  

5 (�� 
/��67���
��� 8���9 � � ���� �
!"  ��
" �$�� ACI : 12 ,� ���0��� ��  ,9�; 0 ,*�< /
%���
��� 8���9 �$=2
0  $12 >? �� /����� �� $4@� ��� �
$" �2 $%� A
B"� �� A�C D
4 .  

E(  F*
G /��4� �
� /�H���( � � ���� �
!" �	
� 
���P� � 6000 kN
    : �
� ,�  

D (:��� � 
? ���� �	
� F*
G ,!IG /���
� �$-�.  �2 ��� ,!IG �H1* ����!$� J�� 
� ��� 
��  "��� ,� �	
�
 : 12 �I4� 

K( �	
� /���
� �$-�. ��L2�� �� M0�G 0 ��  �	
� ������ �*
N �� $12 �3�
4� .  

M(   ,!IG �H1* 
� �
�LI% �� ,!IG �H1* �� 
� �? �	
� ������ � 1500 kN.m
 ,� �I4� : 12  

O(  /��4� /0�$" ��PN �� �� �	
� ,!IG /���
� �$-�.�P� � 4000 kN
  $12 �3�
4� .  

Q(  /��4� /0�$" ��PN �� �� �	
� ,!IG /���
� �$-�.�P� � 2000 kN
  $12 �3�
4� .  

R(  $12 �3�
4� �� ��
" �$�� ��L2�� �� M0�G �S� N. 

�( ��(�� /��67�C�- �� �(�� �0 � T��7 �� ��
���� 
� 0 ,N��< /
%J /��� �� �	
� �I4� ,!IG �H1* 0 /��4� �
�   

 �P� � 3000 kN,M� � 750 kN.m
    $12 /��67���
��� .  

700 mm

x x
e

As = 10Φ30+6Φ20

f 'c = 28 MPa

3Φ20,

   5Φ30

fy = 420 MPa

 fy = 350 MPa

   Φ12 at 100  

fy = 300 MPa

mm

 



  

W�  �
X�� �3Y" 
� Z�
1� ,=$	�Y� �	
� >�W  $12 Q�< ��� /
%0�$" �I4� /��� .  

P� � 2000 kN, P� � 1000 kN,    P� � 100 kN   

M� � 500 kN.m, M� � 250 kN.m,     M � 750 kN.m     

2��$��67�
� D
3/ ��H� �[" �� �� �$��  .  

1
 1.2P� ! 1.6 P�,        2
 1.2P� ! P� ! 1.4P�   

 

3- � ���� �	
� ����:  

)*� (-�.$���
� �/ ��4�/ 
]",� :��� � 
? �	
� F*
G  

5 (-�.$���
� �/ 
]",�  �� �	
�
� L2�� �� M0�G� �mmey 400= 12 �3�
4�$ . 

  

  

 

  


